Naam:

[m]; [=] Klastoets
., Produkte en Faktore
OH-

1. Brei die volgende produkte uit.

2y(y +2)

(y+5)(y+2)

(3% — 2)(k + 6)



https://www.codecogs.com/eqnedit.php?latex=2y(y%2B2)#0
https://www.codecogs.com/eqnedit.php?latex=(y%2B5)(y%2B2)#0
https://www.codecogs.com/eqnedit.php?latex=(3k-2)(k%2B6)#0
https://www.codecogs.com/eqnedit.php?latex=-(4-x)(x%2B4)#0
https://www.codecogs.com/eqnedit.php?latex=(g-5)%5E2#0

2. Breidie volgende produkte uit.
(—2y* — 4y + 11)(5y — 12)

42*(102° + 4) + 42°(22% + 6)

1 1
5@(4@ + 6b) + Z(8a + 12b)



https://www.codecogs.com/eqnedit.php?latex=(-2y%5E2%20-%204y%20%2B%2011)(5y%20-%2012)#0
https://www.codecogs.com/eqnedit.php?latex=4x%5E2(10x%5E3%2B4)%2B4x%5E3(2x%5E2%2B6)#0
https://www.codecogs.com/eqnedit.php?latex=(%5Cfrac%7Bx%7D%7B3%7D%20-%20%5Cfrac%7B3%7D%7Bx%7D)(%5Cfrac%7Bx%7D%7B4%7D%2B%5Cfrac%7B4%7D%7Bx%7D)#0
https://www.codecogs.com/eqnedit.php?latex=%5Cfrac%7B1%7D%7B2%7Da(4a%2B6b)%2B%5Cfrac%7B1%7D%7B4%7D(8a%2B12b)#0

Faktoriseer

122 + 32y

—a’b — b%a

322+ 170 — 6

a*(a—1) —25(a — 1)



https://www.codecogs.com/eqnedit.php?latex=12x%2B32y#0
https://www.codecogs.com/eqnedit.php?latex=-a%5E2b-b%5E2a#0
https://www.codecogs.com/eqnedit.php?latex=3x%5E2%2B17x-6#0
https://www.codecogs.com/eqnedit.php?latex=a%5E2-4#0
https://www.codecogs.com/eqnedit.php?latex=a%5E2(a-1)-25(a-1)#0

